ITEM NO. DESCRIPTION ooralation
] H4194_CLAMP_STRIP_(NIKON) ]
2 M5 x 10 SOCKET C SK HEAD SCREW 2
3 M4 x 8 SOCKET CAP HEAD SCREW 2
4 M5 x 20 SOCKET CAP HEAD SCREW 2
5 TRANSIT SCREW M4x30 SHOULDER SCREW ]




	Sheet1
	Drawing View1


